y 9 (e I TES

PTW
PTRT

AN BB ERR A

T651-2404 MHEMARSEETGHE1534
TEL 078 (967) 1481
FAX 078 (967) 3090

AEARRSIUBEBTEOMERNRRTT,

AE@E 2014 F 4 A1 B JYBERAVVLET . (ABGRERLFEFICHROBRARERLLET )
BERENFREEZESTHO. AMBRRICEHESNATVIRBRVBAICTIEX TS,
RICEHSNEEOBIGH AL, FRUNDI-OMIEEITEU OB TV EETT,

74C. 74HI1.74HF .74HF 1. 76P. 78F. 80L. AA. AF. AF I . AFII. AFT. AL. AX. AXIL. CM. CP10. CP15. AB. C120L. CII. CA.
CB.CBI.CF.CFI.DA.E. EI.EIB.EIF.EIFB.EI.EL ELB. GAL. GALB. GF. GLL. K. KIIF. KIL T. R. V. VKT. VT.
B3M. BD. BMs. BXs. BXs-30. S1K. DK. DM. ECS5. F21DM. F2DM. F2K. F2M. F3Z. FKs. G21M. G21Mp. G24M. G24Mp. G2K.
G2X. G2Z. GKs. GMs. CX. CXs. K21M. K2Xs. K2Z. KG. KGR. KGs. KL. KX. KXs. L4M. LXs-40. NK. NKR. NY. SD. SDR. SET-20.
SETR-20. V2K. V2M. F2M. S2Z. V260M

H N~

MmRDRA

——  GEBERRV. BEEOEKITERTEIERLN=LEEA,

X BHifi cHBL=LEEA

[ ] BRFZCERAFET. TOBROKRDY [CHKRT 2HEL/HYET,
3 (KF) Tyt TUEER

Ty TytrITUE&

Sw INRER

] FREE

AJ TovRAE

SP = O AY S

PK NRYFURFHRYT Y +

AL L RARIL L

O BEKIZIOVTHIABRERESBLTTEL, BLERICOVLTEBSEVELE S,

AERIBRDO-OFELG L BBRMERSEDSEA”HYFET,




1

PTW, PTRT




EE#E  PTW/PTRT
H&E mE m & & Bk ik HE mE m & & [ fili#&
1 | 3146-11001| |+¥r-RASSY(% OFIfH) | 1 5-1 | 3347-22210 |Ux45Uv7 1
3146-11101 ' ¥r—AASSY GKEN{T) 1 5-2 | 3347-22320 YDV PIAVIN 2
1-1 | 314611111 % [F¥¥4H5—X 1
1-2 | 0217-02412] % |(IRTW-24) A+y7 vy 1 6 3354-22300 IW—TNURLTYY CRED | 1
1-3 | 0311-36901| (6901 Z X714 1 6-1 | 3354-22310| x |JL—TF /UKL 1
1-4 | 3156-11130| % [12-16-6 HTF— 1 6-2 | 3354-22320| % |L—F R ILFovT| |
1-5 | 0311-06901( %6901 X745 1 6-3 | 0111-40530( % |M5x30 X7 W 4
1-6 | 3146-11121| % |E=F>F¥ 1 6-4 | 0161-00540] * [M5 ;v 4
1-7 [ 0211-01210| %|S-12 RFvTYo4 1
1-8 | 3146-11160| x| R )L F+ 1 7-1 | 3191-22411| |zeskwen—Gro) M L=1100% | 1
1-9 | 0311-06001] (6001 X725 1 7-2 | 3124-55110| |xaskao4v 72x 1100 MYRFS 1
1-10| 3146-11130| %[12-16-9 H>— 1 7-3 | 3124-27320 LG —RF2—T B7x1000 1
1-11| 0311-26001  [~71)>46001- 2NSE 1 7-4 | 3394-31210 R/ (2 x 80E) 1
1-12| 0212-02812| % [R-28 R+ T4 1
1-13| 3143-11180| %[V RTS4 M-10 1 8 3181-24101 42F-"17' 7% ( $ 13X9X1381) 1
1-14| 0122-30625] % [M6 x 25+F7ut<@mm 1t sww| 1
1-15| 3341-11211| o |A=ZEE 1 9 3173-31000 DwNSTYY XAT 1
1-16] 3112-11220| o [H|AE£E (IHAT) 1 GTCL 14 ¢ X805
1-17] 3156—11231| O |M8x22Z&F It SWE W i 1 9-1 | 0122-00525] x |M5X25 +F 4+ AK Wb 1
1-18| 3143-11240| (M8 SW & 1 9-2 | 0162-00555| % |M5 75>t vk 1
1-191 0171-00812| |M8 FTyvx (/]v) 1 9-3 | 3119-31214 DAY —H52 7 (BRED | 2
1-201 0111-10510 M5Xx10 X911 SW 1
10 3125-25100 ILFI¥Th ©7x2237( 1
2-1 | 3156-21110| |[#&A{K (¢ 24xL1400) 1
2-2 | 3171-22111 EFRXS5M4F 1 1 3156-22501 FT—LATFAT I (%) 1
2-3 | 3143-22211| |FIv7 2 11-1] 0122-30625]| 3 |M6x 25+FRitxBF W+ sww| 2
2-4 1 0161-00880| |v8xH8 vk 1
2-5 1 3129-22121 BYTLNH— 1 12-11 3117-93301 BEMBLEA/ A— G 1
2-6 | 0181-00512| |M5x12A770V 49V 2y 1 12-2| 3117-93330| % [M5x25 #vyEVRHYa | |
* | 3189-22100 HFRSARASSY (% &) 1 13 3353-93202 VITATL— T %) 1
3 | 3189-22700| * | AF/NURILTYY (XH) 1 13-1| 3353-93212| % [€7F4FL—F 1
3-1| 3189-22110| x| RS54(4K H 1 13-2| 3347-93232| % [FL—rHKIL 1
3-2 | 3124-22710| x| 75X 32— 1 13-3| 0122-20615] * [M6X15+F7AdAR A WISWW 2
3-3 | 3124-22790| = |FEE£ (12X21Xt2.5) 1
3-4 | 3124-22720| = |#HEft/\2FIL 1 3143-91120 38 mm FOR/NF 1
3-5 | 3124-22810| x #f+5 )T 1 3353-91140 13mmRY I AL UF 1
3-6 | 3124-22750| % |EE/\>FIL 1 3112-93430 E—n—451R 1
3-7 | 3124-22820| % (EES )y 1 3123-91162 IN—YIR 1
3-8 | 3124-22830| x|Fvv7 1 3123-93411 BEIRIN —(HR) 1
3-9 | 0111-00506/ x|M5x6 =41~ 1 3171-93421 BYTAVE ) BYT A —tHEL0d ]
3123-93451 T—TINAARE4T)| 1
3112-92331 FILRMYA 255 x 40PF5 A(OEM) 1
4-1 | 3124-22411| % |[xEvykiLL/s—W) L=1280 | 1 3202-99110 BamGR+T IV 1
4-2 | 3124-55111| % [REYrILT A4 (72x1280) 1
4-3 | 3124-27320| k|25 —btFa—T®7x1000[ 1 3202-94100 BMKLINIL 1
4-4 | 3394-31210| Kk |#ER/ VR (2 x 808) 2 3911-94001 FEINIL 1
3355-31210| [a—FK/\>F 1 3341-94150 BB —IL 1

2014/4TEThR




